# THE GEOMETRIC CONVEXITY OF A FUNCTION INVOLVING GAMMA FUNCTION WITH APPLICATIONS

YUMING CHU, XIAOMING ZHANG, AND ZHIHUA ZHANG

ABSTRACT. In this paper, we prove that  $(\Gamma(x))^{\frac{1}{x-1}}$  is geometrically convex on  $(0,\infty)$ . As its applications, we obtain some new estimates for  $[\Gamma(x+1)]^{\frac{1}{x}}$  $[\Gamma(y+1)]^{\frac{1}{y}}$ 

## 1. Introduction

For real and positive values of x the Euler gamma function  $\Gamma$  and its logarithmic derivative  $\psi$ , the so-called digamma function, are defined by

(1.1) 
$$\Gamma(x) = \int_0^\infty e^{-t} t^{x-1} dt \quad \text{and} \quad \psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}$$

For extension of these functions to complex variable and for basic properties see [21].

Over the past half century many authors have obtained inequalities for these important functions (see [1-3, 5, 6, 9, 11, 16-18, 20] and bibliographies in those papers). In keeping with tradition, we research the geometric convexity of the gamma function, as its applications, we give some new estimates for  $\frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}}$ . The main purpose of this paper is to prove the full  $(\Gamma(y+1))^{\frac{1}{y}}$ .

The main purpose of this paper is to prove the following Theorem 1.

**Theorem 1.**  $(\Gamma(x))^{\frac{1}{x-1}}$  is geometrically convex on  $(1,\infty)$ .

As applications of Theorem 1, we shall establish the following new inequalities for gamma function which improve the known results.

©2010 The Korean Mathematical Society

Received November 6, 2007; Revised September 21, 2009.

<sup>2000</sup> Mathematics Subject Classification. 26D15.

Key words and phrases. gamma function, geometrically convex function, geometrically concave function, monotonicity.

The research is partly supported by the N. S. Foundation of China under grant 60850005 and the N. S. Foundation of Zhejiang Province under grant D7080080.

**Theorem 2.** If x > y > 0, then

(1.2) 
$$\begin{pmatrix} \frac{x+1}{y+1} \end{pmatrix}^{\frac{(y+1)(1-\log y+y\psi(y)-\log\Gamma(y))}{y^2}} \leq \frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}} \leq \left(\frac{x+1}{y+1}\right)^{\frac{(x+1)(1-\log x+x\psi(x)-\log\Gamma(x))}{x^2}}$$

**Theorem 3.** Let  $a = \frac{1}{2}\log(2\pi) - \frac{1}{2} = 0.4189385 \cdots$ . If x > y > 0, then

(1.3) 
$$\left(\frac{x+1}{y+1}\right)^{\frac{(y+1)(y-\frac{1}{2}\log y-\frac{1}{6y}-a)}{y^2}} < \frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}} < \left(\frac{x+1}{y+1}\right)^{\frac{(x+1)(x-\frac{1}{2}\log x-\frac{1}{6x}+\frac{1}{90x^3}-a)}{x^2}}.$$

**Theorem 4.** Let  $b = 2\log(2\pi) - \frac{10}{3} = 0.342420\cdots$  and  $c = 15\log(2\pi) - \frac{76}{3} = 2.234822\cdots$ . If  $x > y \ge 1$ , then

(1.4) 
$$\left(\frac{x+1}{y+1}\right)^{1-2\pi^2 e^{-\frac{13}{3}}} \leq \left(\frac{x+1}{y+1}\right)^{1-\frac{\log y+b}{2y}} \\ < \frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}} < \left(\frac{x+1}{y+1}\right)^{1-\frac{2\log x+c}{15x}}.$$

**Theorem 5.** Let  $b = 2\log(2\pi) - \frac{10}{3} = 0.342420 \cdots$ ,  $c = 15\log(2\pi) - \frac{76}{3} = 2.234822 \cdots$ ,  $d = 3 - \log(2\pi) = 1.162122 \cdots$ , and  $g(x) = \max\{\frac{\log x - d}{2x}, \frac{2\log(x+1) + c}{15(x+1)}\}$ . If  $x \ge 1$ , then

.

(1.5) 
$$\left(\frac{x+2}{x+1}\right)^{1-2\pi^2 e^{-\frac{13}{3}}} \leq \left(\frac{x+2}{x+1}\right)^{1-\frac{\log x+b}{2x}} \\ < \frac{[\Gamma(x+2)]^{\frac{1}{x+1}}}{[\Gamma(x+1)]^{\frac{1}{x}}} < \left(\frac{x+2}{x+1}\right)^{1-g(x)}.$$

In particular, if  $n \ge 1$ ,  $n \in \mathbb{N}$ , then

(1.6) 
$$\left(\frac{n+2}{n+1}\right)^{\frac{22-3\log 2-6\log(2\pi)}{12}} \leq \left(\frac{n+2}{n+1}\right)^{1-\frac{\log n+b}{2n}} \\ \leq \frac{\left[(n+1)!\right]^{\frac{1}{n+1}}}{(n!)^{\frac{1}{n}}} < \left(\frac{n+2}{n+1}\right)^{1-g(n)}.$$

**Theorem 6.** If  $x \ge 1$ , then

(1.7) 
$$\frac{[\Gamma(x+2)]^{\frac{1}{x+1}}}{[\Gamma(x+1)]^{\frac{1}{x}}} < \left(\frac{x+2}{x+1}\right)^{\frac{4x+3}{4(x+1)}}$$

In particular, if  $n \ge 1$ ,  $n \in \mathbb{N}$ , then

(1.8) 
$$\frac{\left[(n+1)!\right]^{\frac{1}{n+1}}}{(n!)^{\frac{1}{n}}} < \left(\frac{n+2}{n+1}\right)^{\frac{4n+3}{4(n+1)}}$$

### 2. Preliminary knowledge on geometrically convex function

Let  $I \subset (0, \infty)$  be an interval,  $f : I \to (0, \infty)$  is a continuous real-valued function. f is called geometrically convex (or concave, respectively) on I if one of the following is true:

(2.1) 
$$f(\sqrt{x_1 x_2}) \le (\text{or} \ge, \text{ respectively})\sqrt{f(x_1)f(x_2)}$$

for all  $x_1, x_2 \in I$ ;

(2.2) 
$$f(\prod_{i=1}^{n} x_i^{\lambda_i}) \le (\text{or} \ge, \text{ respectively}) \prod_{i=1}^{n} f(x_i)^{\lambda_i}$$

for all  $x_1, x_2, \ldots, x_n \in I$  and  $\lambda_1, \lambda_2, \ldots, \lambda_n \ge 0$  with  $\sum_{i=1}^n \lambda_i = 1$ .

The notion of geometric convexity (or concavity, respectively) was first introduced by P. Montel [13]. Later, the geometric convexity (or concavity, respectively) theory was developed by many authors, such as J. Matkowski [10], C. E. Finol and M. Wójtowicz [8], and C. P. Niculescu [14, 15]. The following Theorem A and Theorem B were established by C. P. Niculescu [14].

**Theorem A.** Let  $I \subset (0, \infty)$  be an interval. If  $f: I \to (0, \infty)$  is a differentiable real-valued function, then f is geometrically convex (or concave, respectively) on I if and only if  $g(x) = \frac{xf'(x)}{f(x)}$  is increasing (or decreasing, respectively) on I.

**Theorem B.** Let  $I \subset (0, \infty)$  be an interval. If  $f: I \to (0, \infty)$  is a differentiable real-valued function, then f is geometrically convex (or concave, respectively) on I if and only if  $\frac{f(x)}{f(y)} \ge (or \le, respectively)(\frac{x}{y})^{\frac{yf'(y)}{f(y)}}$  for all  $x, y \in I$ .

It is easy to see that Theorem B is equivalent to the following Theorem C.

**Theorem C.** Let  $I \subset (0, \infty)$  be an interval. If  $f: I \to (0, \infty)$  is a differentiable real-valued function, then f is geometrically convex (or concave, respectively) on I if and only if  $(\frac{x}{y})^{\frac{yf'(y)}{f(y)}} \leq (or \geq, respectively) \frac{f(x)}{f(y)} \leq (or \geq, respectively) (\frac{x}{y})^{\frac{xf'(x)}{f(x)}}$  for all  $x, y \in I$ .

#### 3. Lemmas

In order to prove the main results of this paper, we need to establish and introduce some lemmas in this section.

Lemma 1. If  $x \ge 1$ , then (3.1)  $\frac{3}{2}x^4 - \frac{11}{6}x^3 + \frac{2}{3}x^2 - \frac{x}{30} - \frac{2}{15} > 0.$  Proof. Let  $f(x) = \frac{3}{2}x^4 - \frac{11}{6}x^3 + \frac{2}{3}x^2 - \frac{x}{30} - \frac{2}{15}$ . Then  $f'(x) = 6x^3 - \frac{11}{2}x^2 + \frac{4}{3}x - \frac{1}{30},$  $f''(x) = 18x^2 - 11x + \frac{4}{3}, \ x \ge 1.$ 

Equation (3.2) implies

(3.3) 
$$f'(x) \ge f'(1) = \frac{9}{5} > 0, \ x \ge 1.$$

Inequality (3.3) leads to

$$f(x) \ge f(1) = \frac{1}{6} > 0.$$

**Lemma 2** (see [6]). If x > 0, then

(3.4) 
$$\psi'(x) > \frac{1}{x} + \frac{1}{2x^2}.$$

**Lemma 3** (see [7]). If x > 0, then

(3.5) 
$$\log \Gamma(x) = \frac{1}{2} \log(2\pi) + (x - \frac{1}{2}) \log x - x + \frac{1}{12x} - \frac{\theta_1}{360x^3},$$

(3.6) 
$$\psi(x) = \log x - \frac{1}{2x} - \frac{1}{12x^2} + \frac{\theta_2}{120x^4},$$

(3.7) 
$$\psi'(x) = \frac{1}{x} + \frac{1}{2x^2} + \frac{1}{6x^3} - \frac{1}{30x^5} + \frac{\theta_3}{42x^7}$$

(3.8) 
$$\psi''(x) = -\frac{1}{x^2} - \frac{1}{x^3} - \frac{1}{2x^4} + \frac{\theta_4}{6x^6},$$

where  $0 < \theta_1, \theta_2, \theta_3, \theta_4 < 1$ .

**Lemma 4.** If 
$$x \ge 1$$
, then

(3.9) 
$$(x+2)\psi'(x) + x(x+1)\psi''(x) > 0.$$

*Proof.* Case 1:  $x \ge 2$ . From (3.4) and (3.8) we clearly see that  $(x+2)\psi'(x) + x(x+1)\psi''(x)$ 

(3.10) 
$$> (x+2)(\frac{1}{x} + \frac{1}{2x^2}) + x(x+1)(-\frac{1}{x^2} - \frac{1}{x^3} - \frac{1}{2x^4})$$
$$= \frac{1}{2x}(1 - \frac{1}{x} - \frac{1}{x^2}) > 0.$$

Case 2:  $1 \le x < 2$ . Case 1 implies

(3.11) 
$$(x+3)\psi'(x+1) + (x+1)(x+2)\psi''(x+1) > 0.$$

From the identity  $\Gamma(x+1) = x\Gamma(x)$  we clearly see that

(3.12) 
$$\psi'(x+1) = -\frac{1}{x^2} + \psi'(x), \quad \psi''(x+1) = \frac{2}{x^3} + \psi''(x).$$

Combining (3.11) and (3.12) we have

$$(x+3)(-\frac{1}{x^2}+\psi'(x))+(x+1)(x+2)(\frac{2}{x^3}+\psi''(x))>0,$$

which is equivalent to

(3.13) 
$$(x+2)\psi'(x) + x(x+1)\psi''(x) > \frac{x+4}{x+2}\psi'(x) - \frac{x^2+3x+4}{x^2(x+2)}.$$

From (3.7) and (3.13) we get

$$(x+2)\psi'(x) + x(x+1)\psi''(x)$$

$$(3.14) \qquad > \frac{x+4}{x+2} \left( \frac{1}{x} + \frac{1}{2x^2} + \frac{1}{6x^3} - \frac{1}{30x^5} \right) - \frac{x^2 + 3x + 4}{x^2(x+2)} \\ = \frac{1}{x^5(x+2)} \left( \frac{3}{2}x^4 - \frac{11}{6}x^3 + \frac{2}{3}x^2 - \frac{1}{30}x - \frac{2}{15} \right).$$

Hence inequality (19) follows from inequalities (3.1) and (3.14).

#### 4. Proof of theorems

Proof of Theorem 1. For  $x \in (1, \infty)$ , let  $f(x) = [\Gamma(x)]^{\frac{1}{x-1}}$ , then

(4.1) 
$$\frac{xf'(x)}{f(x)} = \frac{x(x-1)\psi(x) - x\log\Gamma(x)}{(x-1)^2}$$

and

(4.2) 
$$\begin{bmatrix} \frac{xf'(x)}{f(x)} \end{bmatrix}' = \frac{x(x-1)^2\psi'(x) + (1-x^2)\psi(x) + (x+1)\log\Gamma(x)}{(x-1)^3} \\ = \frac{(x+1)g(x)}{(x-1)^3},$$

where  $g(x) = \frac{x(x-1)^2 + \psi'(x)}{x+1} + (1-x)\psi(x) + \log\Gamma(x)$ . Differentiating g(x) and making use of Lemma 4 we get

(4.3) 
$$g'(x) = \frac{(x-1)^2}{(x+1)^2} [(x+2)\psi'(x) + x(x+1)\psi''(x)] > 0.$$

Inequality (4.3) implies

(4.4) 
$$g(x) \ge \lim_{x \to 1+0} g(x) = 0, \ x \in (1, +\infty).$$

Therefore, Theorem 1 follows from (4.2) and (4.4) together with Theorem A.  $\hfill \Box$ 

Proof of Theorem 2. Let  $f(x) = [\Gamma(x)]^{\frac{1}{x-1}}$ ,  $x \in (1,\infty)$ . For any x > y > 0, Theorem 1 and Theorem C imply

(4.5) 
$$\left(\frac{x+1}{y+1}\right)^{\frac{(y+1)f'(y+1)}{f(y+1)}} \le \frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}} \le \left(\frac{x+1}{y+1}\right)^{\frac{(x+1)f'(x+1)}{f(x+1)}}.$$

Therefore, Theorem 2 follows from the identity  $\Gamma(t+1) = t\Gamma(t)$  and inequality (4.5).

Proof of Theorem 3. For x > y > 0, equations (3.5) and (3.6) imply

(4.6) 
$$\begin{cases} \frac{1}{2}\log(2\pi) + (x - \frac{1}{2})\log x - x + \frac{1}{12x} - \frac{1}{360x^3} < \log\Gamma(x) \\ < \frac{1}{2}\log(2\pi) + (x - \frac{1}{2})\log x - x + \frac{1}{12x}, \\ \log x - \frac{1}{2x} - \frac{1}{12x^2} < \psi(x) < \log x - \frac{1}{2x} - \frac{1}{12x^2} + \frac{1}{120x^4}, \end{cases}$$

and

(4.7) 
$$\begin{cases} \frac{1}{2}\log(2\pi) + (y - \frac{1}{2})\log y - y + \frac{1}{12y} - \frac{1}{360y^3} < \log\Gamma(y) \\ < \frac{1}{2}\log(2\pi) + (y - \frac{1}{2})\log y - y + \frac{1}{12y}, \\ \log y - \frac{1}{2y} - \frac{1}{12y^2} < \psi(y) < \log y - \frac{1}{2y} - \frac{1}{12y^2} + \frac{1}{120y^4}. \end{cases}$$

Therefore, Theorem 3 follows from inequalities (4.6)-(4.7) and Theorem 2.  $\Box$ 

Proof of Theorem 4. Let  $a = \frac{1}{2}\log(2\pi) - \frac{1}{2}$  and  $f(y) = (\frac{b}{2} - a + 1)y - \frac{1}{2}\log y - \frac{1}{6y} - a - \frac{1}{6}, y \ge 1$ . Then f(1) = 0 and

(4.8)  
$$f'(y) = \frac{1}{6y^2} [(3\log(2\pi) - 1)y^2 - 3y + 1]$$
$$\geq \frac{1}{6y^2} [(3\log(2\pi) - 1)y - 3y + 1]$$
$$\geq \frac{1}{2y^2} [\log(2\pi) - 1] > 0.$$

Inequality (4.8) implies

$$f(y) = \left(\frac{b}{2} - a + 1\right)y - \frac{1}{2}\log y - \frac{1}{6y} - a - \frac{1}{6} \ge f(1) = 0, \ y \ge 1,$$

(4.9) 
$$1 - \frac{\log y + b}{2y} \le \frac{(y+1)(y - \frac{1}{2}\log y - \frac{1}{6y} - a)}{y^2}.$$

Taking  $h(y) = 1 - \frac{\log y + b}{2y}, y \ge 1$ , it is easy to see

(4.10) 
$$\min_{y \in [1, +\infty]} h(y) = h(e^{1-b}) = 1 - 2\pi^2 e^{-\frac{13}{3}}.$$

Next let

$$g(x) = (90a - 6c - 90)x + (33x + 45)\log x + \frac{15}{x} - \frac{1}{x^2} - \frac{1}{x^3} + 90a + 15, \ x \ge 1.$$

Then

(4.11) 
$$\begin{cases} g'(x) = (90a - 6c - 90) + 33\log x + \frac{33x + 45}{x} - \frac{15}{x^2} + \frac{2}{x^3} + \frac{3}{x^4}, \\ g''(x) = \frac{3}{x^5}(x - 1)(11x^3 - 4x^2 + 6x + 4) \ge 0, \\ g'(1) = 85 - 45\log(2\pi) = 2.295532 \dots > 0, \\ g(1) = 0. \end{cases}$$

From (4.11) we clearly see that  $g(x) \ge 0$  for  $x \ge 1$ , then we get

(4.12) 
$$\frac{(x+1)\left(x-\frac{1}{2}\log x-\frac{1}{6x}+\frac{1}{90x^3}-a\right)}{x^2} \le 1-\frac{2\log x+c}{15x}$$

Therefore, Theorem 4 follows from (4.9)-(4.10) and (4.12) together with Theorem 3.  $\hfill \Box$ 

Remark 1. For any  $n \ge 1, n \in \mathbb{N}$ , H. Minc and L. Sathre [12] first established the following inequality:

(4.13) 
$$1 \le \frac{[(n+1)!]^{\frac{1}{n+1}}}{(n!)^{\frac{1}{n}}} \le \frac{n+1}{n}.$$

Later, H. Alzer [4] proved

(4.14) 
$$\frac{n+2\sqrt{2}-1}{n+1} \le \frac{[(n+1)!]^{\frac{1}{n+1}}}{(n!)^{\frac{1}{n}}} \le \frac{n+2}{n+1}.$$

From the identity  $\Gamma(n+1) = n!$  we know that inequalities (4.13) and (4.14) can be rewritten as

(4.15) 
$$1 \le \frac{[\Gamma(n+2)]^{\frac{1}{n+1}}}{[(\Gamma(n+1)]^{\frac{1}{n}}} \le \frac{n+1}{n}$$

and

(4.16) 
$$\frac{n+2\sqrt{2}-1}{n+1} \le \frac{[\Gamma(n+2)]^{\frac{1}{n+1}}}{[(\Gamma(n+1)]^{\frac{1}{n}}} \le \frac{n+2}{n+1},$$

respectively. Recently, F. Qi and C. P. Chen [19] gave the following result:

(4.17) 
$$\left(\frac{x+1}{y+1}\right)^{\frac{1}{2}} < \frac{[\Gamma(x+1)]^{\frac{1}{x}}}{[\Gamma(y+1)]^{\frac{1}{y}}} < \frac{x+1}{y+1}, \ x > y > 0.$$

It is obvious that inequality (1.4) is an improvement of inequality (4.17). In fact,  $1 - 2\pi^2 e^{-\frac{13}{3}} = 0.740947\cdots$ .

Proof of Theorem 5. If  $x \ge 1$ , then Theorem 4 implies

(4.18) 
$$\begin{pmatrix} \frac{x+2}{x+1} \end{pmatrix}^{1-2\pi^2 e^{-\frac{13}{3}}} \leq \left(\frac{x+2}{x+1}\right)^{1-\frac{\log x+b}{2x}} \\ < \frac{[\Gamma(x+2)]^{\frac{1}{x+1}}}{[\Gamma(x+1)]^{\frac{1}{x}}} < \left(\frac{x+2}{x+1}\right)^{1-\frac{2\log(x+1)+c}{15(x+1)}}$$

Theorem 3 leads to

$$(4.19) \qquad \frac{\left[\Gamma(x+2)\right]^{\frac{1}{x+1}}}{\left[\Gamma(x+1)\right]^{\frac{1}{x}}} < \left(\frac{x+2}{x+1}\right)^{\frac{(x+2)(x+1-\frac{1}{2}\log(x+1)-\frac{1}{6(x+1)}+\frac{1}{90(x+1)^3}-a)}{(x+1)^2}}$$

,

where  $a = \frac{1}{2}\log(2\pi) - \frac{1}{2}$ . By calculation, it is not difficult to verify

(4.20)  
$$1 + \frac{(x+1) - \frac{x+2}{2}\log x - \left[\frac{1}{2}\log(2\pi) - \frac{1}{2}\right]x + \left[1 - \log(2\pi)\right]}{(x+1)^2} < 1 - \frac{\log x - 3 + \log(2\pi)}{2x}.$$

Inequality (4.20) leads to

$$(4.21) \qquad \frac{(x+2)[(x+1) - \frac{1}{2}\log(x+1) - \frac{1}{6(x+1)} + \frac{1}{90(x+1)^3} - a]}{(x+1)^2} \\ = 1 + \frac{(x+2)[(x+1) - \frac{1}{2}\log x - a]}{(x+1)^2} \\ = 1 + \frac{(x+1) - \frac{x+2}{2}\log x - [\frac{1}{2}\log(2\pi) - \frac{1}{2}]x + [1 - \log(2\pi)]}{(x+1)^2} \\ < 1 - \frac{\log x - 3 + \log(2\pi)}{2x} = 1 - \frac{\log x - d}{2x}.$$

Therefore, inequality (1.5) follows from inequalities (4.18)-(4.19) and (4.21). Next, if  $n \ge 1, n \in \mathbb{N}$ , then inequality (1.5) implies

(4.22)

$$\left(\frac{n+2}{n+1}\right)^{1-\frac{\log n+b}{2n}} < \frac{[(n+1)!]^{\frac{1}{n+1}}}{(n!)^{\frac{1}{n}}} = \frac{[\Gamma(n+2)]^{\frac{1}{n+1}}}{[\Gamma(n+1)]^{\frac{1}{n}}} < \left(\frac{n+2}{n+1}\right)^{1-g(n)}.$$

For  $n \ge 1, n \in \mathbb{N}$ , it is not difficult to verify

$$(4.23) 1 - \frac{\log n + b}{2n} \ge 1 - \frac{\ln 2 + b}{4} = \frac{22 - 3\log 2 - 6\log(2\pi)}{12}$$

Hence inequality (1.6) follows from inequalities (4.22) and (4.23).

Remark 2. Comparing inequality (1.6) with inequality (4.14) we know that

$$\left(\frac{n+2}{n+1}\right)^{1-g(n)} < \frac{n+2}{n+1} \text{ for all } n \ge 1$$

and

(4.24) 
$$\left(\frac{n+2}{n+1}\right)^{1-\frac{\log n+b}{2n}} > \frac{n+2\sqrt{2}-1}{n+1}$$
 for all  $n \ge 9$ .

In fact, if taking  $g(n) = (\frac{n+2}{n+1})^{1-\frac{\log n+b}{2n}}$  and  $h(n) = \frac{n+2\sqrt{2}-1}{n+1}$ . Then for n = 9, by science computation, we get

$$g(9) = 1.085306 \dots > h(9) = 1.082842 \dots$$

For  $n \ge 10$ , let

$$f(x) = 2x - \log x - b - 2(\sqrt{2} - 1)\frac{2x^2 + 3x}{x + 1}, \ x \ge 10.$$

Then

$$(x+1)^{2}f'(x) = x[(6-4\sqrt{2})x + (11-8\sqrt{2})] - \frac{1}{x} - 6(\sqrt{2}-1)$$

$$(4.25) > x[10(6-4\sqrt{2}) + (11-8\sqrt{2})] - \frac{1}{x} - 6(\sqrt{2}-1)$$

$$> 10(71-48\sqrt{2}) - \frac{1}{10} - 6(\sqrt{2}-1)$$

$$= 28.592208 \dots > 0.$$

Inequality (4.25) implies

(4.26) 
$$2n - (\log n + b) - 2(\sqrt{2} - 1)\frac{2n^2 + 3n}{n+1}$$
$$= f(n) \ge f(10) = 0.033360 \dots > 0$$

for  $n \ge 10$ . Inequality (4.26) leads to

(4.27) 
$$\left(1 - \frac{\log n + b}{2n}\right) \frac{2}{2n+3} > \frac{2\sqrt{2} - 2}{n+1}.$$

If t > 0, then it is easy to prove that

$$t > \log(1+t) > \frac{2t}{t+2},$$

hence we have

(4.28) 
$$\log\left(\frac{n+2}{n+1}\right) > \frac{2}{2n+3}$$

and

(4.29) 
$$\frac{2(\sqrt{2}-1)}{n+1} > \log \frac{n+2\sqrt{2}-1}{n+1}.$$

Combining inequalities (4.27)-(4.29) we get

$$\left(\frac{n+2}{n+1}\right)^{1-\frac{\log n+b}{2n}} > \frac{n+2\sqrt{2}-1}{n+1}.$$

Proof of Theorem 6. For  $x \ge 1$ , let

$$f(x) = \frac{28}{45(x+1)} + \frac{5}{x+2} + 2\log(x+1) + (2\log(2\pi) - 7).$$

Then

$$(x+1)^{2}f'(x) = -\frac{28}{45} - \frac{5(x+1)^{2}}{(x+2)^{2}} + 2(x+1)$$

$$> -\frac{28}{45} - \frac{5(x+1)}{x+2} + 2(x+1)$$

$$= -\frac{28}{45} + 2(x+1) \left[1 - \frac{5}{2(x+2)}\right]$$

$$\ge -\frac{28}{45} + \frac{2}{3} = \frac{2}{45} > 0$$

for all  $x \ge 1$ .

Inequality (4.30) implies

$$\frac{28}{45(x+1)} + \frac{5}{x+2} + 2\log(x+1) + (2\log(2\pi) - 7)$$
$$= f(x) \ge f(1) = 0.039826 \dots > 0,$$

which leads to

$$(4.31) \qquad \frac{4x+3}{4x+4} > \frac{(x+2)(x+1-\frac{1}{2}\log(x+1)-\frac{1}{6x+6}+\frac{1}{90(x+1)^3}-a)}{(x+1)^2}.$$

Therefore, inequality (1.7) follows from inequalities (4.19) and (4.31), and inequality (1.8) follows from inequality (1.7) and identity  $\Gamma(n+1) = n!$ .

Remark 3. Inequality (1.8) improves the upper bound of inequality (4.14).

#### References

- [1] H. Alzer, Some gamma function inequalities, Math. Comp. 60 (1993), no. 201, 337-346.
- [2] \_\_\_\_\_, On some inequalities for the gamma and psi functions, Math. Comp. 66 (1997), no. 217, 373–389.
- [3] \_\_\_\_\_, Inequalities for the volume of the unit ball in  $\mathbb{R}^n$ , J. Math. Anal. Appl. **252** (2000), no. 1, 353–363.
- [4] \_\_\_\_\_, On an inequality of H. Minc and L. Sathre, J. Math. Anal. Appl. 179 (1993), no. 2, 396–402.
- [5] G. D. Anderson and S. L. Qiu, A monotoneity property of the gamma function, Proc. Amer. Math. Soc. 125 (1997), no. 11, 3355–3362.
- [6] Á. Elbert and A. Laforgia, On some properties of the gamma function, Proc. Amer. Math. Soc. 128 (2000), no. 9, 2667–2673.
- [7] G. M. Fichtenholz, Differential- und Integralrechnung. II, VEB Deutscher Verlag der Wissenschaften, Berlin, 1986.
- [8] C. E. Finol and M. Wójtowicz, Multiplicative properties of real functions with applications to classical functions, Aequationes Math. 59 (2000), no. 1-2, 134–149.
- D. Kershaw, Some extensions of W. Gautschi's inequalities for the gamma function, Math. Comp. 41 (1983), no. 164, 607–611.
- [10] J. Matkowski, L<sup>p</sup>-like paranorms, Selected topics in functional equations and iteration theory (Graz, 1991), 103–138, Grazer Math. Ber., 316, Karl-Franzens-Univ. Graz, Graz, 1992.
- [11] M. Merkle, Logarithmic convexity and inequalities for the gamma function, J. Math. Anal. Appl. 203 (1996), no. 2, 369–380.

- [12] H. Minc and L. Sathre, Some inequalities involving (r!)<sup>1/r</sup>, Proc. Edinburgh Math. Soc.
  (2) 14 (1964/1965), 41–46.
- [13] P. Montel, Sur les functions convexes et les fonctions sousharmoniques, J. Math. Pures Appl. (9) 7 (1928), 29–60.
- [14] C. P. Niculescu, Convexity according to the geometric mean, Math. Inequal. Appl. 3 (2000), no. 2, 155–167.
- [15] \_\_\_\_\_, Convexity according to means, Math. Inequal. Appl. 6 (2003), no. 4, 571–579.
- [16] B. Palumbo, A generalization of some inequalities for the gamma function, J. Comput. Appl. Math. 88 (1998), no. 2, 255–268.
- [17] J. Pečarić, G. Allasia, and C. Giordano, Convexity and the gamma function, Indian J. Math. 41 (1999), no. 1, 79–93.
- [18] F. Qi and C. P. Chen, A complete monotonicity property of the gamma function, J. Math. Anal. Appl. 296 (2004), no. 2, 603–607.
- [19] \_\_\_\_\_, Monotonicity and convexity results for functions involving the gamma function, Int. J. Appl. Math. Sci. 1 (2004), 27–36.
- [20] F. Qi, B. N. Guo, and C. P. Chen, The best bounds in Gautschi-Kershaw inequalities, Math. Inequal. Appl. 9 (2006), no. 3, 427–436.
- [21] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis, Cambridge University Press, New York, 1962.

YUMING CHU DEPARTMENT OF MATHEMATICS HUZHOU TEACHERS COLLEGE HUZHOU 313000, P. R. CHINA *E-mail address*: chuyuming@hutc.zj.cn

XIAOMING ZHANG HAINING RADIO AND TV UNIVERSITY HAINING 314400, P. R. CHINA *E-mail address*: zjzm79@126.com

ZHIHUA ZHANG ZIXING MUNICIPAL SCHOOL ZIXING 423400, P. R. CHINA *E-mail address:* zxzh1234@163.com